Problem-2:
Given     Attempts=n=75

               Number of success=x=21

Part-(a)

p.hat=x/n=21/75=0.28   is the required point estimate

Part-(b) 

      The estimated standard error of the point estimate is given by

      SE(p.hat)=sqrt[p.hat(1-p.hat)/n]=sqrt((0.28*(1-0.28)/75))=0.05185

Part-(c)

                 (=0.10

             Z(/2 =1.64

 A 90% confidence interval for the true proportion of mating attempts which are successful is given by:

( p.hat- Z(/2 *SE(p.hat), p.hat-+Z(/2 *SE(p.hat))=(0.195,0.36)

Part-(d)

 Hypotheses:    

       Ho :  P=0.40

       Ha:   P<0.40(fewer than 40% of the mating attempts are successful)

where P is the population proportion of mating attempts which are successful.

 Test-statistic:

            Z= (p.hat-Po)/sqrt((Po*(1-Po)/n), where Po =0.40

              =-2.12

Decision Rule:

       Reject Ho if Z<Z(=-1.64  (for (=0.05)

Conclusion:

Since the calculated Z value,-2.12, is smaller than the tabulated Z value,-1.64, we reject Ho and we conclude that fewer than 40% of the attempts are successful. Thus, at (=0.05 the data provides a strong evidence for the claim.  We will have the same conclusion if we use the p-value,0.0170030.

Since the p-value is less than (=0.05, we reject Ho.

